~RER/— DB~

/ /  BEDAE
EERRT Xix =B °C BE %
REZ XiE =8 °C BE %

"ERZAVV-EORS [OBIE

EA%E ER 2 0.1 mm

a1 (mm) az (mm) [(mm)
18.2 248.7 230.5
20.3 250.9 230.6
Fi41E [ =230.533
e 222 HEEHECTS
e [ I, SR
THE(RE = 0.0577
L % 2LL ZOFFRALE
EETHENS 5ly = & = 22E% = 0.0333 mm
o fERE 5l = 0.1 mm

BEIRETRHENS  61=/(51,)* + (515)% = /(0.0333 mm)? + (0.1 mm)?

INERAEDS (k=2 18) D
sTEIE. CCTIETNDE
LYo




-/ XRERAWNV-HEDERES b DAIE
ERTOFHAE 53.1 mm
FHZE /X R fERE 0.05 mm

KEEEDHAEER
Zfp<1IEHIC,
FliwAEZ U,

ER 2lR b(mm )
53 15 53.15
53 10 53.10
FifE b =53.0700 mm
BERE o, =0.0763 mm
THRRENS §by = % = 2220 = 0.0311 mm
R RE Sbg = 0.05 mm

SHAELERFEME b = (6bp)? + (5bp)? = /(0.0311 mm)2 + (0.05 mm)?
= 0.0589 mm



IAOOA=R2ZFRAWN=EE d DEIE
/XATHOFHEHE  3.95mm

FAHZFE IA70A—4 53fiFEE 0.001 mm

EZmRE AIERI 0.000 mm HAIE#  0.003 mm

1y 0.00150 mm

ER glR B A d(mm)

3.5 46 9 3.969
3.5 46 7 3.967




FiiE

BREEFKE
Li=F{E
ZHERE

B
SMARRE

BRIRERENS

d = 3.97040 mm

d = 3.97040 mm - (0.00150 mm) = 3.96890 mm

o; = 0.00360 mm

od 0.00360 mm _
5dA = \/_ﬁ = T =0.00113 mm

6dg = 0.001 mm

5d = \[(6dp)? + (3dg)?

= /(0.00113 mm)2 + (0.001 mm)2 = 0.00150 mm



"BFRMHZAVEEE mOBlIE

ERAKRE ERm (?2.2°2) o 22

Ti9fE
BERE
BAERFAS
SRR

BRIRERENS

M =131.2300 g

g, =0

m = YE BT

sm. I _ 08 _ o I, SReE
A VmT V3 g ZOFERALE

Smg =0.01 g

om = \/(5mA)2 + (6mg)? = \/(0 g)? + (0.01 g)?

=00lg



B

EOHE

T (g/cmd) BHET DI
DI, ESOEHTIS(mm)

[ =230.533 mm = 23.0533 cm 5 cm SO H U,

b =53.0700 mm = 5.30700 cm
d = 3.96890 mm = 0.396890 cm
M =131.2300 g

HOEOIEEHETE,
STEBREITEICHRHFEL TR E,

®
. om 131.2300 g
P = Tha ™ 230533 cm x530700 cm x0.396890 cm
@ @ @
®
131.2300 g =
= = 2.70259 g/cm?3
48.5570 cm3
@

BRENFEHESSL,
BEOHERCENETE
S, BEOBDHPERN



[ =23.05cm BT 4

b =5.307 cm 4
d = 0.3969 cm 4
m =131.23 g 5
RAE(E 2.70259 g/cms = 2.703 g/cm?3

XHEME 7ILZZVLDEE 7777 g/cmd

(X 272727)

XEEEDT 1
2.703 g/em® — 227272 2222

= ?272?2%

A



- BEOFENSDE SRIEERRENE

THDCLEITIR

0l= 0.105 mm

0b =0.0589 mm

HRATDEHEEE
B UEMZERIND,
BITIEmm EfIZRUVZ.

0d =0.00150 mm
dm=0.01lg

S\ 2 0.105 mm 2
() = (225 ) rcr0r
l 230.533 mm
(6_b)2 _ ( 0.0589 mm)2 — 103106
b/) = \53.0700 mm/

5d\2 0.00150 mm 2
(T) ( ) = 1.42X10-7
d 3.96890 mm

sm)? _00lg

= 5.81X108
131.2300 g

). = 1.64%X10°6

50 =5J(2) + () + (%) + ()’

= 2.70259 g/cm® X V1.64 x 10~ = 0.00346 g/cm3



Ap = kép = 2 x 0.00346 g/cm® = 0.00692 g/cm3

RIEFER p+Ap = (2.703 £ 0.00692) g/cm3
= (2.703 £ 0.007) g/cm3

O 2.703 £ 0.007

x 2.703 £ 0.03
0 2.70 +£0.03

 FREASDRES
(%) = 2x107

(519)2 — 1% 106

SAEEDOEWAELS
Z 1 fICEEDIE,

b OIBXIFRDESAL/BIE, HIDFRICENT « « -
c o REUERREXETEEDD + ¢ -




- SCHERE D EL 8
EI&HER (2.703 £0.007) g/cm3
XHEME 7ILEZOLDEE 7?7727 g/cmd

(X 272727)

XHkEEDT N
2.703 g/m® — 272722 2227
= = 22727
= ?2?22?2%

[RAEEIIXREE AN SDEHRT—HL

—HUSD o EHE,
BB CLENT?% KEVHBR
Elsorel % RIREBRENENEZ
LLE 9 2.
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